SA PREREQUISITE SKILLS Review.

Algebra - A l

(1) Use the definition of absolute value to rewrite the following expressions without using the

absolute value symbol. -2 \P XS 2 o F x>
& = El = 0
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(2) Solve the inequalities:

(a) Ix-3l <1 (b) X2 < 2x+8 © :+; >0
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(4) Simplify
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I Analytic Geometry - B |

(5) (a) Find the equation of the line which passes through the points (2,1) and (-5,2). \/ -l=" L()*f'“&)
(b) Roughly estimate the slopes of each of the lines: e

e

] Functions - C

aret ﬁ""‘ct v\.g ¢ \

(6) (a) Given g(x) = 1 find and simplify: g®-gl@ - |
* x-a ax

(b) Given f(x) = x>-3x  find and simplify: M Lxth— 3

(7) Sketch the graph of f. You should not “just plot points”.

(@) f(x)=vx+2-1 (b) f(x) =Ixl +x (c) f(x) =
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[ Trigonometry - D ]

(8) Find the following trigonometric values exactly (no calculator) V3,
(a) sin(7m/6) (b) tan (-1) (c) cos(m) (d) sin(-1/3) 2

-y - TT/4 ~ | JZ_
(e) cot(7m/4) (f) tan(3n/2) (g) cos' (-1/2) (h) sin'|- —) i 1}
=1 unclef’ 2T/5 2) 4

(9) Graph f(x) = -2 cos (2x)
(10) Find all solutions in [0,211): ~2c0s? = 1+sinx X:I[ 5T 37
) é/ CF’/ —i

(11) Solve: sin2x-cosx=0. ‘

Xx=T1 i




